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AN N sLSAISE
M =Y =& 243 ALY
@9 =& I8 =X/ ot (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 2,400
01 SLHOYI 2,400 2,400 0
OsXolgze g2 =& ol 2,400
Jl 2,400
SKAEH0E 2t 3,000 3,000 0
202 04 tl 3,000 3,000 0
01 = LH 4 b 3,000 3,000 0
Osizelgs ol 3,000
S B2 28,470 28,470 0
201 ¢4l 20,470 20,470 0
01 A2 22l 17,470 17,470 0
OSHIHE M= 50,000& »200H 1,000
Oogzte 10,000& = 120K 120
Osdadlts Rl 10,000& 2005 2,000
OsZAY 2el Sl 2,100
Os=sgAdAHEN M= 22,500 x2F *50F 2,250
OXd¥9=sg &4 f3s 10,000
02 =24l 3,000 3,000 0
o=Ex& | 3,000
202 O4dl 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
Os3dJis gRFa 4,000
203 YR =2 4,000 4,000 0
03 A E=ZARETY| 4,000 4,000 0
O=iEm =3 4,000
sH=MHHESE K& 25,000 10,000 15,000
< 10,000
s 15,000
301 LAz 25,000 10,000 15,000
< 10,000
[ia 15,000
1MIIEBESS 25,000 10,000 15,000
O=sfE Mol28 sIHRE3 N AY 25,000
< 10,000
[ia 15,000
sStEsRlAE ESXE 50,400 50,400 0
< 10,080
e 40,320
201 Let24E] 50,400 50,400 0
= 10,080
e 40,320
01 At 22l 50,400 50,400 0
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FN: ANA=sSESEsASH
Hu: 59 & 225 A
Sl =X 18 =X 08 O (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 144,000
s 62,000
SEsETEEHH 29 16,000 175,000 A 159,000
202 Oddl 2,000 0 2,000
01 = LH 4 Hi 2,000 0 2,000
OsgssgauEl 29 =& 2,000
307 21201 A 14,000 0 14,000
02 QB AEXRS 14,000 0 14,000
OzsH&gds A2 X3 14,000
HsHE EHNE ALY 345,000 540,000 A 195,000
201 Let249] 4,000 0 4,000
01 At 22l 1,000 0 1,000
OAsHE EF =& =&l 1,000
02 22224l 3,000 0 3,000
OZaZHsHEXNAEE SHOIX 29 3,000
202 04 Hl 1,000 0 1,000
01 SLHOYI 1,000 0 1,000
OF=sHE 243 & &#H 1,000
402 RI2EX=201 M 340,000 540,000 200,000
01 RIZERIZ2E X 340,000 540,000 A 200,000
OALSAHY 2 MAAIL Dt X 200,000
OFg7y A= 2 $2 N
5,000, 000& »15= Dt 75,000
O8&d Azl X 3,000,000%20H 60,000
OA=sHE UsEd N 500,000& 10 5,000
H=Q sSIH=8 #2|d|l X & 50,000 55,000 A5,000
< 15,000
s 35,000
402 BIZEXHE 0 A 50,000 55,000 A5,000
= 15,000
fia 35,000
01 RIZERt2E X 50,000 55,000 A5,000
OA=sQ sItF8 =2/l XA 50,000
< 15,000
[ia 35,000
sty s KE 319,000 350,900 231,900
= 119,625
< 79,750
s 119,625
301 et a3z 319,000 350,900 A 31,900
& 119,625
< 79,750
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A ANEsHEFFAMGEH
Hu: 59 & 225 A
Sl =X 18 =X 08 O (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 119,625
02 ¥st=2 st = 319,000 350,900 A 31,900
Osgoliy sx=2X& 319,000
= 119,625
& 79,750
= 119,625
SsHAGAHLE K& 30,000 60,000 A 30,000
= 18,000
& 3,600
= 8,400
307 2Iz2t0| A 30,000 60,000 A 30,000
= 18,000
= 3,600
= 8,400
02 QIZ2tAAE X2 30,000 60,000 A 30,000
OsgdadgAHLE XJIAY 30,000
= 18,000
& 3,600
- 8,400
SIE00 XS 30,240 34,560 N4 ,320
= 10,920
& 8,400
= 10,920
402 SI2F X201 & 30,240 34,560 N4 ,320
= 10,920
& 8,400
= 10,920
01 Q228 X 30,240 34,560 A4 320
OsIIE0 XNEEALS 30,240
= 10,920
= 8,400
= 10,920
SHE ESUAI SEE2224Y XNEAY 79,200 85,800 AN6,600
= 38,016
o 11,880
= 29,304
307 212t0| ™ 79,200 85,800 A6,600
= 38,016
o= 11,880
= 29,304
02 QI2tAAMNE X2 79,200 85,800 AN 6,600
OS0E BSDA SEIL4LY NAAY
1,320,000& »60H 79,200
= 38,016
= 11,880
= 29,304
HAEsYolMYH 2 XS 117,000 117,000 0]
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FN: ANA=sSESEsASH
M =Y =& 243 ALY
Sl =T 01" =X0I8 O CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 45,500
< 26,000
e 45,500
307 21201 A 117,000 117,000 0
& 45,500
< 26,000
i 45,500
02 QIAHFAEXS 117,000 117,000 0
O&EsdEH 23 A 117,000
&2 45,500
< 26,000
s 45,500
A AssW 2I(EX) 28,800 10,500 18,300
< 9,600
s 19,200
307 gl2tol& 28,800 10,500 18,300
< 9,600
s 19,200
02 BIZHENEXS 28,800 10,500 18,300
O=d Fsstu 2 28,800
< 9,600
[ 19,200
SEELde S§EEE ALY 20,100 0 20,100
= 10,050
i 10,050
307 glz2tol & 20,100 0 20,100
= 10,050
i 10,050
02 QItFAEXZ 20,100 0 20,100
OsEssHds d&3Ey NJAY
6,700,000 *30H & 20,100
= 10,050
i 10,050
EANYsESA 200,000 0 200,000
= 100,000
= 20,000
i 80,000
307 glz2tol & 200,000 0 200,000
= 100,000
< 20,000
s 80,000
02 QIZtFAEXZ 200,000 0 200,000
OENYUSESI XE A 200,000
= 100,000
< 20,000
[ia 80,000
SAE 6RAE 3 ALY 640,000 0 640,000
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SN NS sYSHAYE
Hu: 59 & 225 A
Sl =X 18 =X 08 O CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 400,000
s 240,000
307 glz2+ol & 88,000 0 88,000
& 55,000
i 33,000
02 2B AEXS 88,000 0 88,000
O=A E6XHaH 3HAFS (S/W)
110,000, 000& *80% 88,000
= 55,000
[ia 33,000
402 RIZ2FRt20l ™ 552,000 0 552,000
& 345,000
e 207,000
01 RIZEAI 22X 552,000 0 552,000
O=A E6XHAH 3HAFS (H/W)
690,000, 000& *80% 552,000
= 345,000
[ia 207,000
114 Z2HE MY =& 674,262 1,324,636 A 650,374
1.1.4 Z2HEANY =2 106,422 93,636 12,786
101 @124 dl 14,390 26,640 A 12,250
04 JIZHHZ2XREES 14,390 26,640 A 12,250
OsJl F=88 A4ZA SHEZ ALY
39,9703 30 x128 ™ 14,390
201 ¢4 49,032 51,496 A2,464
01 At 2t 2l 8,000 8,000 0
Ol4E=HME AtY F& 5,000
OIM4E2HE =& g | 3,000
02 =224l 11,032 8,496 2,536
OFULEXZAAE(HADIS) FXE 2
58,200, 000& *12% 6,984
OBZ ML SE 22 AAE(HABIS) R AE =S
33,733,000& *12% 4,048
03 A2 Z Hl 30,000 35,000 A5,000
OZAFSAsAGN sHoldzuAs 05 U
gl Xl 0r2 1,000,000& *32l 3,000
OMM4ZZRE QIZFAHA 2= 27,000
202 044l 11,000 11,000 0
01 SLHOIYI 11,000 11,000 0
OMM4EZHMEALR F& L =AM #IX 0+ 5,000
OsJt S=s8g d=Z A =& 6,000
203 R =&t 2,000 2,000 0
03 A F=AH S =AY 2,000 2,000 0
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SA: s SaA e
M =Y =& 243 ALY
Sol: WEBY S MADIE PE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ozsdsdy 3,500
301 et A3z 3,980 3,980 0
09 &AL HIZ &S 3,980 3,980 0
Oz ezerzsl g gt 700, 000& *2CH 1,400
OXBASY otats FAT LA
30,0003 «43H *23] 2,580
307 glz2tol & 8,000 8,000 0
02 QIZtFAE XS 8,000 8,000 0
Ozgd =g AU 8,000
SE8Y dEd=sgy 84 322,500 333,060 A 10,560
402 RIZ2EA20l A 322,500 333,060 A 10,560
01 RIZERI2E X 322,500 333,060 210,560
OsdoilsY XN& 2,000,000& *150ha*35% 105,000
OZ A= STHU X
40,0003 *8,000% A *30% 96,000
OnsZHMA XA 700,000& *300ha*30% 63,000
Or&d RI=sXM X
1,300,000 *150ha*30% 58,500
At sLtE e X& 366,000 518,200 A 152,200
301 et d=s 15,000 0 15,000
NJIEEd=s 15,000 0 15,000
OrEFAS M2 AH XI& 500,000 *3024 15,000
402 RI2EXt20l ™ 351,000 518,200 A 167,200
01 RIZERI2E X 351,000 518,200 A 167,200
OAHIHIOFH 8 XI& 1,200,000& *80ha*60% 57,600
OE20IME =8 XI& 7,000,000& *15ha*60% 63,000
O sLE HATHH MASHT =M (114
2HE) 230,400
s AFX=M 54,550 60,758 N6,208
= 54,550
301 et 8= 54,550 60,758 N6,208
= 54,550
NJEEd=s 54,550 60,758 N6,208
OzZ=sdAEFEXNEM K&
1,000, 000& %54 .55ha*100% 54,550
= 54,550
sI&2dlg XN& 1,042,194 687,295 354,899
= 521,097
s 521,097
307 gl2tol & 1,042,194 0 1,042,194
= 521,097
s 521,097




AN N sLSAISE
Hu: 59 & 225 A
Sol: WEBY S MADIE PE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2B AEXS 1,042,194 0 1,042,194
ORJIIEHEZE XNEAL 1,042,194
= 521,097
s 521,097
EZMEH KA 265,314 406,060 A 140,746
= 185,720
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[ia 55,716
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= 185,720
< 23,878
s 55,716
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OELMHEH XA 2,732.18& 97,107 265,314
= 185,720
< 23,878
i 55,716
AH AT DAY 309,724 518,000 A 208,276
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e 154,862
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s 8,114
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= 8,114
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o 7,870
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= 400,000
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2 1,500,000
& 600,000
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01 Q228 X 424,400 494,000 A 69,600
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ogsizedl X 2,000,000 »100CH *50% 100,000
SELEE20] N 100,280 150,040 N49,760
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Oszges
46,0003 x218= JF*20 L *50% 100,280
=2 &8 & 503,000 503,000 0
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01 812t X2 X 503,000 503,000 0
OH 222 HE . geta e K& 503,000
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130,356
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11,575

Mo A

MIIEtE2d= 55,099 60,200 25,101
OGAPRIE =0t otE A AAHl XI&
447 ,9593 %123 Jt 55,099

38,563
4,961
11,575

Mo

=8 =48I0 EsFF e 5,000 2,000 3,000
2,000
3,000

MW

201 fet2E | 3,000 2,000 1,000

1,200
1,800

M

01 AF22t2l | 3,000 2,000 1,000




2N N sYSEHAY S
N2 == 2HG ALY
Sol: FEH SaA A8 2 ERA)
= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
OU&or 28R Siael offB &
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2 1,200
= 1,800
202 o4 | 2,000 0 2,000
2 800
= 1,200
01 2Ll 2,000 0 2,000
OWEEH MU BEsF2e ol 2,000
= 800
= 1,200
StAsats sngal X 22,400 19,778 2,622
=} 11,200
= 11,200
308 MXISHMSOIA 22,400 19,778 2,622
& 11,200
= 11,200
06 I 20UStEEX= 22,400 19,778 2,622
ORsASAS stnSA e 22,400
& 11,200
= 11,200
SMBIHBUY SHAY 390,000 0 390,000
2 195,000
= 195,000
402 QIERHE= 0| & 390,000 0 390,000
2 195,000
= 195,000
01 QI2t X2 X 390,000 0 390,000
Oz {20124
650,000, 000& *1JH A x60% 390,000
2 195,000
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2 130,000
& 65,000
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= 7,842
02 AAtAMNEBEXZ 13,070 0 13,070
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= 5,228
= 7,842
AEtHAsAtE: stngAal Se2eAAE RFIR 15,000 0 15,000
201 gEt24Hy| 15,000 0 15,000
02 2=2=294| 15,000 0 15,000
OHBASHES S NZA SHAAAY 25
X & 15,000
ANEE M SO 4,712,628 5,858,530 A 1,145,902
= 433,235
2 1,061,000
J| 490,800
= 271,599
= 2,455,994
M2 HMAD|BEAIE X & 889,562 1,133,320 A 243,758
201 LBt 6,360 6,360 0
01 AP 22| H| 6,360 6,360 0
ORHEXSE L THollHl A 22 = 2H|
7,0009 *3E x 160 3,360
OMB2Y 2 EES(2M, ZEHIIES)HE
300,000 x10& 3,000
202 o4 H| 5,000 3,000 2,000
01 2L I 5,000 3,000 2,000
OAMSHAY 22 =7 5,000
301 et A= 300 600 A 300
09 HAIAHIBEAZ 300 600 A 300
ORJUHEE st EFAXE4 30,000%10H 300
402 SI2vXHE0| ™ 877,902 1,123,360 N 245 458
01 812t X 877,902 1,123,360 A 245,458
OXNSTFHASOHRA AEHEALL
40,000,000 *5& x50% 100,000
OH=SotRA AIAINA ALY
25,000,000 *4 = x50% 50,000
QHICISMAD|BIAI S S (14T 2ME )AHY
1.98nhax*256,200, 000& *50% 253,638
OsAMESHSHE DX SAAS
1,188m *2,000,000¥ /3.3m x50% 360,000
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80hax*2, 160,000& *30% 51,840
O FTEHE XS L X & At
9.0hax*2,650,000& *50% 11,925
Satas 3yd 25 504,998 717,450 A 212,452
402 RIZ2FXt20l M 504,998 717,450 A 212,452
01 QIZERI 22X 504,998 717,450 AN 212,452
O 28 &K & A 20,000,000& *5& *x50% 50,000
OJAZelH=E=IXNJA AL
3,600,000& =50 x50% 9,000
Ol H 2L A& ALY 30,000
OSSO X & At 25,000,000& = 10CH x30% 75,000
O=s0ld=s A& At 44,000, 000& *50% 22,000
O At AR &AM 13,333, 330& *35 *50% 20,000
O & Mot S X & ALY 24,000
O & TH HH 4 & X 2 ALY
22.22ha*60= *33| x10, 000 *50% 19,998
OXtSstotRA HaHIEWHMA & A
32,967 m %9, 100& *50% 150,000
OtsotRA HE WM XA
20,000m" *3,000& *50% 30,000
OGS X HATHBEXI J1 XA XT3 AHS 55,000
OZ 7 THEH X & AL
5.7142hax7,000,000& *50% 20,000
FA=EcXg HEZEA=ZAM 412,343 423,321 A 10,978
= 329,874
< 24,741
[ia 57,728
301 et a3z 412,343 412,343 0
= 329,874
< 24,741
[ia 57,728
MIEE4d3 412,343 412,343 0
OXH=cNFHEXN=M 243 412,343
= 329,874
= 24,741
s 57,728
FTADI 2 dAtAIE SIS ALY 59,804 125,000 A 65,196
J| 23,000
< 10,350
s 26,454
308 A EHHSOIA 2,304 0 2,304
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